D1vISION WITH A REMAINDER II (H - SET 5)
DIVISION WITH -10 TO 10

Name:

Time:

Score:
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21229 -4 =
—7813 + (—1) =
23388 =10 =
—32221 =+ (=7) =

12700 < (—10) =
77507 + (—10) =
—38699 + 5 =
—63395 + 8 =
68388 + (—9) =
45727 + (=5) =
—2785 +1 =
—38314 +— (=7) =
—36527 + (—4) =
—99319 = (—10) =

—80335 + (—9) =

Mathematics: Division - Level 8 - Horizontal - Set 5
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61390 = (—7)

—20482 = (—5)

33759 + (—5)

—47510 + 10 =
67973 +8 =
3185 +1 =
7456 <+ (—4) =
—8475 +3 =
—3437 + 3 =
6032 + (—2) =

3296 = (—10)
—24647 + 3 =
17770 =+ (—2)
63425 + (=7)

—17834 +4 =
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